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Question Id : 92090610735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090610736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090642401. 1
92090642402. 2
92090642403. 3
92090642404. 4

Question Number : 2 Question Id : 92090610737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090642405. 1
92090642406. 2
92090642407. 3
92090642408. 4

Question Number : 3 Question Id : 92090610738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906424009. 1
92090642410. 2
92090642411. 3
92090642412. 4

Question Number : 4 Question Id : 92090610739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090642413. 1
92090642414. 2
92090642415. 3
92090642416. 4

Question Number : 5 Question Id : 92090610740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090642417. 1
92090642418. 2
92090642419. 3
92090642420. 4



Question Id : 92090610735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090610736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090642401. 1
92090642402. 2
92090642403. 3
92090642404. 4

Question Number : 2 Question Id : 92090610737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090642405. 1
92090642406. 2
92090642407. 3
92090642408. 4

Question Number : 3 Question Id : 92090610738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906424009. 1
92090642410. 2
92090642411. 3
92090642412. 4

Question Number : 4 Question Id : 92090610739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090642413. 1
92090642414. 2
92090642415. 3
92090642416. 4

Question Number : 5 Question Id : 92090610740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090642417. 1
92090642418. 2
92090642419. 3
92090642420. 4



Question Id : 92090610735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090610736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090642401. 1
92090642402. 2
92090642403. 3
92090642404. 4

Question Number : 2 Question Id : 92090610737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090642405. 1
92090642406. 2
92090642407. 3
92090642408. 4

Question Number : 3 Question Id : 92090610738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906424009. 1
92090642410. 2
92090642411. 3
92090642412. 4

Question Number : 4 Question Id : 92090610739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090642413. 1
92090642414. 2
92090642415. 3
92090642416. 4

Question Number : 5 Question Id : 92090610740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090642417. 1
92090642418. 2
92090642419. 3
92090642420. 4

Sub-Section Number : 2
Sub-Section Id : 920906351



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090610741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List | with the appropriate phrasal verb in List 11 :

Liat 1 List II

(A) Students usually speak (D) fell-out
French during class by
occasionally English.

(B) The English professor (L) lapse into
wanted t - the
importance of additional
reading to his students

(C) Capital punishment (I1l) done away with
was___ several years ago
in Britain.

Dy 1 with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(ID), (C)-(D). (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(111)
(3) (A1), (B)-(AV), (C)-(11), (D)-(111)
(4)  (A)-(1D), (B)-(IV), (C)-(111), (D)-(D)

Options :

92090642421. 1
92090642422.2
92090642423. 3
92090642424. 4

Question Number : 6 Question Id : 92090610741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

Dy I with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(1I), (C)-(D), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(1LI)
(3)  (A)-(D), (B)-(IV), (C)-(11), (D)-(L1T)
(4)  (A)-(D), (B)-(IV), (C)-(111), (D)-(I)

Options :

92090642421. 1
92090642422. 2
92090642423. 3
92090642424. 4

Question Number : 6 Question Id : 92090610741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

) | with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(111), (B)-(1I), (C)-(I), (D)-(IV)
(Z) (A)-(11). (B)-(IV). (C)-(I), (D)-(111)
(3) (A)-(D), (B)-(IV), (C)-(11), (D)-(111)
(4) (A)-(11), (B)-(1V), (C)-(11I), (D)-(I)

Options :

92090642421. 1
92090642422. 2
92090642423. 3
92090642424. 4

Question Number : 7 Question Id : 92090610742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3)  IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090642425. 1
92090642426. 2
92090642427. 3
92090642428. 4

Question Number : 7 Question Id : 92090610742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (1) IDAOOSYNCRASY

Options :

92090642425. 1
92090642426. 2
92090642427. 3
92090642428. 4

Question Number : 7 Question Id : 92090610742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090642425. 1
92090642426. 2
92090642427. 3
92090642428. 4

Question Number : 8 Question Id : 92090610743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused _ a ease concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2} in, with, as, in

(3) in, on, with, for {(4) in, on, in, as

Options :

92090642429.
92090642430.
92090642431.
92090642432.

N O R O R

Question Number : 8 Question Id : 92090610743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) in, with, as, in
(3) in, on, with, for (4) in, on, in, as
Options :

92090642429. 1
92090642430. 2
92090642431. 3
92090642432. 4

Question Number : 8 Question Id : 92090610743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet ___ the case _ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3 in, on, with, for (4) in, on, in, as

Options :

92090642429. 1
92090642430. 2
92090642431. 3
92090642432 4

Question Number : 9 Question Id : 92090610744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090642433. 1
92090642434. 2
92090642435. 3
92090642436. 4



Question Number : 9 Question Id : 92090610744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090642433. 1
92090642434. 2
92090642435. 3
92090642436. 4

Question Number : 9 Question Id : 92090610744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090642433. 1
92090642434. 2
92090642435. 3
92090642436. 4

Question Number : 10 Question Id : 92090610745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is ;

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090642437. 1
92090642438. 2
92090642439. 3
92090642440. 4



Question Number : 10 Question Id : 92090610745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Svnonym of the word "TEAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4) Habit
Options :

92090642437. 1
92090642438. 2
92090642439. 3
92090642440. 4

Question Number : 10 Question Id : 92090610745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Syvnonym of the word "TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090642437. 1
92090642438. 2
92090642439. 3
92090642440. 4

Question Number : 11 Question Id : 92090610746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos @ =1—n , then find the value of cot 8:

[
| n

J

(1) (2)

[
Lh
(SN

]

(3) (4)

|
(7 =

Options :
92090642441. 1
92090642442. 2



92090642443. 3
92090642444. 4

Question Number : 11 Question Id : 92090610746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

t

]m

(1)

=
]
e

-

(]
Lh
(S8

(3) (4)

]
Lh | an

|

Options :

92090642441. 1
92090642442. 2
92090642443. 3
92090642444. 4

Question Number : 11 Question Id : 92090610746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

t

]m

(1)

-

[ I
Lh

.

el

e
]

]

(3) (4)

|
Lh | an

Options :

92090642441. 1
92090642442. 2
92090642443. 3
92090642444. 4

Question Number : 12 Question Id : 92090610747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2) 24
(3) 30 (4) 33
Options :

92090642445. 1
92090642446. 2
92090642447. 3
92090642448. 4

Question Number : 12 Question Id : 92090610747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4) 33
Options :

92090642445. 1
92090642446. 2
92090642447. 3
92090642448. 4

Question Number : 12 Question Id : 92090610747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2y 24
(3 30 (4) 33
Options :

92090642445. 1
92090642446. 2
92090642447. 3
92090642448. 4

Question Number : 13 Question Id : 92090610748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 15

(3) 16 (4) 20

Options :

92090642449. 1
92090642450. 2
92090642451. 3
92090642452. 4

Question Number : 13 Question Id : 92090610748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.
(1) 12.5 2) 15
(3) 16 (4) 20

Options :

92090642449. 1
92090642450. 2
92090642451. 3
92090642452. 4

Question Number : 13 Question Id : 92090610748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananva bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 2y 15
(3) 16 {4y 20
Options :

92090642449. 1
92090642450. 2
92090642451. 3
92090642452. 4

Question Number : 14 Question Id : 92090610749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cone of height at 24 em and base radius 6 em is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1ecm (2) 2em
(3) 6 cm (4) Bem
Options :

92090642453. 1
92090642454. 2
92090642455. 3
92090642456. 4

Question Number : 14 Question Id : 92090610749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 cm {4) 8Becm
Options :

92090642453. 1
92090642454. 2
92090642455. 3
92090642456. 4

Question Number : 14 Question Id : 92090610749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 em is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 ecm (4) Scm

Options :

92090642453. 1
92090642454. 2
92090642455. 3
92090642456. 4

Question Number : 15 Question Id : 92090610750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) 5,000
(3) ¥5.300 (4 2700

Options :

92090642457. 1
92090642458. 2
92090642459. 3
92090642460. 4

Question Number : 15 Question Id : 92090610750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) 5,000
(3) ¥5.300 (4 2700

Options :

92090642457. 1
92090642458. 2
92090642459. 3
92090642460. 4

Question Number : 15 Question Id : 92090610750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 {2y ¥ 5,000

(3) % 5,300 {4y 2,700

Options :

92090642457. 1
92090642458. 2
92090642459. 3
92090642460. 4



Question Number : 16 Question Id : 92090610751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420+ 20 -20x 20=20

(1) + and + (2) +and-—
(3) +andx (1) =and=+
Options :

92090642461. 1
92090642462. 2
92090642463. 3
92090642464. 4

Question Number : 16 Question Id : 92090610751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20+20+ 20— 20 x 20 =20

(1) + and + (2) +and-—
(3) + and x (4) = and=
Options :

92090642461. 1
92090642462. 2
92090642463. 3
92090642464. 4

Question Number : 16 Question Id : 92090610751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420 =20-20x 20=20
(1) + and + (2) +and-—
(3) +andx (1) =and=+

Options :



92090642461. 1
92090642462. 2
92090642463. 3
92090642464. 4

Question Number : 17 Question Id : 92090610752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

B3IGY : 4258 :: 9BTH : ?

(1) B5763 (2) B764
(3) 7764 (4) 7763
Options :

92090642465. 1
92090642466. 2
92090642467. 3
92090642468. 4

Question Number : 17 Question Id : 92090610752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 7

(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :

92090642465. 1
92090642466. 2
92090642467. 3
92090642468. 4

Question Number : 17 Question Id : 92090610752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 : 7
(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :
92090642465. 1
92090642466. 2

92090642467. 3
92090642468. 4

Question Number : 18 Question Id : 92090610753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the yvounger of two brothers of the daughter
ol my Father's wile”. How 18 the boy who 18 playving is related to Milind:

(1) Brother (2) Brother-in-law
(3 Son {4) Cousin
Options :

92090642469. 1
92090642470. 2
92090642471. 3
92090642472. 4

Question Number : 18 Question Id : 92090610753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the vounger of two brothers of the daughter
ol my father's wife”. How 18 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090642469. 1
92090642470. 2
92090642471. 3
92090642472. 4

Question Number : 18 Question Id : 92090610753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the vounger of two brothers of the daughter
ol my father's wife”. How 13 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090642469. 1
92090642470. 2
92090642471. 3
92090642472. 4

Question Number : 19 Question Id : 92090610754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the
statement:

Statement @ A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I) Every student can afford to buy the hook.

(II) The book is well-written

(1) If only assumption I is implicit
(2)  If only assumption I is implicit
(3) If neither I nor 11 is implicit

(4) If both assumption I and 11 are implicit

Options :

92090642473. 1
92090642474. 2
92090642475. 3
92090642476. 4

Question Number : 19 Question Id : 92090610754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit

(2)  If only assumption Il is implicit

(3 If neither I nor 11 is implicit

(4) If both assumption I and 1l are implicit

Options :

92090642473. 1
92090642474. 2
92090642475. 3
92090642476. 4

Question Number : 19 Question Id : 92090610754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption Il is implicit
(3 If neither I nor 11 is implicit
(4) If both assumption I and 1l are implicit
Options :
92090642473. 1
92090642474. 2
92090642475. 3
92090642476. 4

Question Number : 20 Question Id : 92090610755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(By All chairs are chalks.
Conelusions : (I) Some pens are chairs,

(II) Some chalks are pens.

(1)

If conclusion (D) follows
(2) If conclusion (1) follows
(3) If either conclusion (I) or (II) follows

(4) Both conclusion (1) and (1) follows

Options :

92090642477. 1
92090642478. 2
92090642479. 3



92090642480. 4

Question Number : 20 Question Id : 92090610755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(IT) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (1I) follows
(3 If either conclusion (I) or (11 follows

(4) Both coneclusion (1) and (II) follows

Options :

92090642477. 1
92090642478. 2
92090642479. 3
92090642480. 4

Question Number : 20 Question Id : 92090610755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs,

(II) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (II) follows
(3) If either conclusion (1) or (II) follows

(4) Both conclusion (1) and (II) follows

Options :
92090642477. 1
92090642478. 2



92090642479. 3
92090642480. 4

Question Number : 21 Question Id : 92090610756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3  Vindhyan Range (4) Satpura Hills

Options :

92090642481. 1
92090642482. 2
92090642483. 3
92090642484. 4

Question Number : 21 Question Id : 92090610756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basing?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range {(4) Satpura Hills

Options :

92090642481. 1
92090642482. 2
92090642483. 3
92090642484. 4

Question Number : 21 Question Id : 92090610756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3) Vindhyan Range (4) Satpura Hills

Options :



92090642481. 1
92090642482. 2
92090642483. 3
92090642484. 4

Question Number : 22 Question Id : 92090610757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 ¢

List 1 List 11
(Name of committee) {(Various sector of India
Feonomy)
(A) Bimal Jalan Committee (I) Corporate Governance
(B) Birla Committee (lI) Improving national

highways in India
(Cy S R Harhim Committee (111} Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(LL), (B)-(111), (C)-(IV), (D)-(1)
(2) (A)-(1), (B)-(IV), (C)-(111), (D)-(1L)
(3) (A)-(1V), (B)-(1), (C)-(111), (D)-(1L)
(4) (A)-(1V), (B)-(1), (C)-(11), (D)-(111)

Options :

92090642485. 1
92090642486. 2
92090642487. 3
92090642488. 4

Question Number : 22 Question Id : 92090610757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List [ with List II :

List 1 List 11
(Name of committes) (Various gector of India
Economy)

{A) Bimal Jalan Committee (I} Corporate Governance

(B) Birla Committee (II) Improving national
highways in India

(Cy SR Harhim Committee (I1I) Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(I)
2 (WD, (B)-(IV), (C)-(11D), (D)-(1L)
(3 (A-IV), (B)-(D, (C)-(11D), (D)-(1D)
@) (A)-AV), (B)-(D), (C)-(11), (D)-(11L)

Options :

92090642485. 1
92090642486. 2
92090642487. 3
92090642488. 4

Question Number : 22 Question Id : 92090610757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List 11 :

List 1 List 11
(Name of committee) (Various sector of India
Economy)

{A) Bimal Jalan Committee (I) Corporate Governance

(B} Birla Committee (I) Improving national
highways in India

(”y S R Harhim Committee (IL1) Urban poverty

(D) Chaturvedi {(IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(I1I), (C)-(IV), (D)-(I)
(2)  (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3)  (A)-AV), (B)-(D). (C)-(11D), (D)-(1L)
4 (A)-IV), (B)-(D. (C)-(11), (D)-(11L)



Options :

92090642485. 1
92090642486. 2
92090642487. 3
92090642488. 4

Question Number : 23 Question Id : 92090610758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT) (4) Port

Options :

92090642489. 1
92090642490. 2
92090642491. 3
92090642492. 4

Question Number : 23 Question Id : 92090610758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090642489. 1
92090642490. 2
92090642491. 3
92090642492. 4

Question Number : 23 Question Id : 92090610758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT) (4) Port



Options :

92090642489. 1
92090642490. 2
92090642491. 3
92090642492. 4

Question Number : 24 Question Id : 92090610759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II @ Net Domestic Product (NDP) equals to the GDP plus depreciation
{value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement I are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement 1 is incorrect but Statement II is correct

Options :

92090642493. 1
92090642494. 2
92090642495. 3
92090642496. 4

Question Number : 24 Question Id : 92090610759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement I  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 1 is correct
Options :
92090642493. 1
92090642494. 2

92090642495. 3
92090642496. 4

Question Number : 24 Question Id : 92090610759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country

during a year.

Statement II @ Net Domestic Product (NDP) equals to the GDP plus depreciation
{value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement I is correct

Options :
92090642493. 1



92090642494. 2
92090642495. 3
92090642496. 4

Question Number : 25 Question Id : 92090610760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090642497. 1
92090642498. 2
92090642499. 3
92090642500. 4

Question Number : 25 Question Id : 92090610760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement {2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090642497. 1
92090642498. 2
92090642499. 3
92090642500. 4

Question Number : 25 Question Id : 92090610760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090642497. 1



92090642498. 2
92090642499. 3
92090642500. 4

Part B: Korean

Section Id : 920906214
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906352
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090610761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i )0l S0 Z 718 22 TSAE DE2HA 2.
HECEZE ( ) S22 FM8.

1 Be

2) BO|=

3) B2]|=

4) EQlCH=
Options :
92090642501. 1
92090642502. 2

92090642503. 3
92090642504. 4

Question Number : 26 Question Id : 92090610761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i ) Ol SUZ 718 2 TSAE D1E2HAR.
HECE2E ( ) S22 FHa.

1 Be

2) HO|&

3) B2l

4) EelCh=
Options :
92090642501. 1
92090642502. 2

92090642503. 3
92090642504. 4

Question Number : 26 Question Id : 92090610761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) O S0{Z 7H UYL TEAE D2YAQ.
HECH} | )goz FHQ.

7 BE

2) 2Ol
3) B2
4) B9lCH=

Options :

92090642501. 1
92090642502. 2
92090642503. 3
92090642504. 4

Question Number : 27 Question Id : 92090610762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e |

()0l S0{Z 71 Y2 To|E NEHA2.
T2 M "2 HFEo] E ( YO A /OFA /I A O} A3} Q.

1) dgolct
2) SOICt

3) G5t
4) MHopct
Options :
92090642505. 1
92090642506. 2

92090642507. 3
92090642508. 4

Question Number : 27 Question Id : 92090610762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( )ol S0Z 78 €22 B E JEHML.

Fel N

rlo

HEEHO] & ( )O{ Af/OFA /O A OF= Al RASHAIR.

1) d2olct
2) St

3) Sasit
4) TS

Options :

92090642505. 1
92090642506. 2
92090642507. 3
92090642508. 4

Question Number : 27 Question Id : 92090610762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e |

()0l S0{Z 71 Y2 To|E NEHA2.
T2 M "2 HFEo] E ( YO A /OFA /I A O} A3} Q.

1) gl
2) S5ttt

3) St
4) OpSHC

Options :

92090642505. 1
92090642506. 2
92090642507. 3
92090642508. 4

Question Number : 28 Question Id : 92090610763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )0l 02 7HE S22 HOE DEHAL.

L= S8 SORIA Ot 0718 F7 S0k2[of ( )2 HECL
1) gstsict

2) BEsict

3) SCHSHCE

4) 7SIk
Options :
92090642509. 1
92090642510. 2

92090642511. 3
92090642512. 4

Question Number : 28 Question Id : 92090610763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lhs S8 SORIA tistuof S071E 57 Sok2|of ( )L HCt

4) 7t st

Options :

92090642509. 1
92090642510. 2
92090642511. 3
92090642512. 4

Question Number : 28 Question Id : 92090610763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

()0l S0Z 7} R HOE DEHA2.

L= S8 SORIA Oistao S0{7tH J7 S0k2[0 ( )2l HCL
1) Ri&fsi
2) Y&sict
3) YCHSHC
4) 75t
Options :
92090642509. 1
92090642510. 2

92090642511. 3
92090642512. 4

Question Number : 29 Question Id : 92090610764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O S0 24 8l A8 124AM2.
1) S5kt

2) glZSHct

3) 2ESH

2
ot
0z
o
inl

Options :

92090642513. 1
92090642514. 2
92090642515. 3
92090642516. 4

Question Number : 29 Question Id : 92090610764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O S0 24 8l A8 124AM2.

rc oy
Of
n

Lot
nE

o NE R
o o
2 o RO i |

2
fot
ot
1n

Options :

92090642513. 1
92090642514. 2
92090642515. 3
92090642516. 4

Question Number : 29 Question Id : 92090610764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O S0 24 8l A8 124AM2.

rc oy
Of
n

Lot
nE

o NE R
o o
2 o RO i |

2
fot
ot
1n

Options :

92090642513. 1
92090642514. 2
92090642515. 3



92090642516. 4

Question Number : 30 Question Id : 92090610765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 30 24 gl= 48 12HA 2.

ot
n
E

=
tEt
§SHC}

i

nE rz o
rH
OF

OH nE
ot

O

f:

Options :

92090642517. 1
92090642518. 2
92090642519. 3
92090642520. 4

Question Number : 30 Question Id : 92090610765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= S0 24 gl A8 124A 2.
1) &5ttt
2) BlZsict
3) 2&sit

4) 2HEsIC

II?'

H

Options :

92090642517. 1
92090642518. 2
92090642519. 3
92090642520. 4

Question Number : 30 Question Id : 92090610765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w Sl |

ng rz gy OO

WE o OF Of
£

L.
fot
02
ot
o
|

Options :

92090642517. 1
92090642518. 2
92090642519. 3
92090642520. 4

Question Number : 31 Question Id : 92090610766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs #99] 71 22 8 NEHA 2.

Options :

92090642521. 1
92090642522. 2
92090642523. 3
92090642524. 4

Question Number : 31 Question Id : 92090610766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Entrust
2) Thrust
3) Discharge
4) Uploading

Options :

92090642521. 1
92090642522. 2
92090642523. 3
92090642524. 4

Question Number : 31 Question Id : 92090610766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O ZE99 7bF @2 X8 RE2HAM L.
9/gf

1

2
3

Entrust
Thrust

)
)
) Discharge
)

4) Uploading
Options :

92090642521. 1
92090642522. 2

92090642523. 3
92090642524. 4

Question Number : 32 Question Id : 92090610767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O 3 7H8 22 g2 Zig 124dA2.

List | List Il

ASS I. Inflammation

B. 9= Il. Stomach Ache
CES lll. Chest Pain
DEE IV. Head Ache

1. A-IV, B-l, C-lI, D-INI
2. A-IV, B-, C-lll, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-ll, C-IV, D-I

Options :

92090642525. 1
92090642526. 2
92090642527. 3
92090642528. 4

Question Number : 32 Question Id : 92090610767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O 3 7H8 22 g2 Zig 124dA2.

List | List Il

ASS I. Inflammation

B. 9= Il. Stomach Ache
CES lll. Chest Pain
DEE IV. Head Ache

1. A-IV, B-l, C-lI, D-INI
2. A-IV, B-, C-lll, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-ll, C-IV, D-I

Options :

92090642525. 1
92090642526. 2
92090642527. 3
92090642528. 4

Question Number : 32 Question Id : 92090610767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O 3 7H8 22 g2 Zig 124dA2.

List | List Il

ASS I. Inflammation

B. 9= Il. Stomach Ache
CES lll. Chest Pain
DEE IV. Head Ache

1. A-IV, B-l, C-lI, D-INI
2. A-IV, B-, C-lll, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-ll, C-IV, D-I

Options :

92090642525. 1
92090642526. 2
92090642527. 3
92090642528. 4

Question Number : 33 Question Id : 92090610768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O S 7He S aE%t 2ig D1EYHAL.
List | List 11
A, Tje I. Symptom
B. 8% II. Sign
C 3T lll. Relapse
D. ¢ IV. Syndrome
1. A-IV, B-l, C-II, D-lI

2. A-IV, B-I, C-lIl, D-ll
3. A-lll, B-Il, C-I, D-IV

4. A-lll, B-Il, C-IV, D-I

Options :

92090642529. 1
92090642530. 2
92090642531. 3
92090642532. 4

Question Number : 33 Question Id : 92090610768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



O S 7He S aE%t 2ig D1EYHAL.
List | List 11
A, Tje I. Symptom
B. 8% II. Sign
C 3T lll. Relapse
D. ¢ IV. Syndrome
1. A-IV, B-l, C-II, D-lI

2. A-IV, B-I, C-lIl, D-ll
3. A-lll, B-Il, C-I, D-IV

4. A-lll, B-Il, C-IV, D-I

Options :

92090642529. 1
92090642530. 2
92090642531. 3
92090642532. 4

Question Number : 33 Question Id : 92090610768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



O S 7He S aE%t 2ig D1EYHAL.
List | List 11
A, Tje I. Symptom
B. 8% II. Sign
C 3T lll. Relapse
D. ¢ IV. Syndrome
1. A-IV, B-l, C-II, D-lI

2. A-IV, B-I, C-lIl, D-ll
3. A-lll, B-Il, C-I, D-IV

4. A-lll, B-Il, C-IV, D-I

Options :

92090642529. 1
92090642530. 2
92090642531. 3
92090642532. 4

Question Number : 34 Question Id : 92090610769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



O S 7H8 22 dZ% 28 12HA 2.

List | List Il
A ZEHESEYSH . National Palace Museum of Korea
B. gz EH IIl. National Folk Museum of Korea
C. &S A lIl. National Museum of Contemporary Art!
D. Z E 0] =2 IV. National Museum of Korea
1. A-IV, B-1, C-ll, D-1ll

2. A-IV, B-l, C-lII, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-II, C-IV, D-I

Options :

92090642533. 1
92090642534. 2
92090642535. 3
92090642536. 4

Question Number : 34 Question Id : 92090610769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O S 7H8 22 dZ% 28 12HA 2.

List | List Il
A ZEHESEYSH . National Palace Museum of Korea
B. gz EH IIl. National Folk Museum of Korea
C. &S A lIl. National Museum of Contemporary Art!
D. Z E 0] =2 IV. National Museum of Korea
1. A-IV, B-1, C-ll, D-1ll

2. A-IV, B-l, C-lII, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-II, C-IV, D-I

Options :

92090642533. 1
92090642534. 2
92090642535. 3
92090642536. 4

Question Number : 34 Question Id : 92090610769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O S 7H8 22 dZ% 28 12HA 2.

List | List Il
A ZEHESEYSH . National Palace Museum of Korea
B. gz EH IIl. National Folk Museum of Korea
C. &S A lIl. National Museum of Contemporary Art!
D. Z E 0] =2 IV. National Museum of Korea

1. A-IV, B-, C-lI, D-1Il
2. A-IV, B-l, C-lII, D-lI
3. A-lll, B-Il, C-l, D-IV

4. A-lll, B-ll, C-IV, D-I
Options :
92090642533. 1
92090642534. 2
92090642535. 3
92090642536. 4

Question Number : 35 Question Id : 92090610770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A )l S0 Z JHE 2RE2 A8 AEHAL
2LH0l= v[7} B0 ( ) Xlg2 EM7F A 742
1) 24y
2) 2E2HC
3 2 7HX 2
4) 2+ CHLOf
Options :
92090642537. 1
92090642538. 2

92090642539. 3
92090642540. 4



Question Number : 35 Question Id : 92090610770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A )0 S0 2 7HE 2RE A8 DEHAL.
2 HOojl= v|7F B0l ( ) Kla2 SN HA 742U

1) 24y

2) 242t
3) o 7HX| 2
4) 2+ CHLlof

Options :

92090642537. 1
92090642538. 2
92090642539. 3
92090642540. 4

Question Number : 35 Question Id : 92090610770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A )l S0 Z JHE 2RE2 A8 AEHAL
2LH0l= v[7} B0 ( ) Kla2 EN7F HA HRACH

1) 24y
2) 2E2HC

3) o 71X
4) 2 ol

Options :

92090642537. 1
92090642538. 2
92090642539. 3
92090642540. 4

Question Number : 36 Question Id : 92090610771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



)0l SO0Z 7HE ERHE A8 1EHA L.
2 HO = HI7F B0l ( ) Ma2 EN7H A ZHRAC

1) 24y
) 2O2%

4 KOREAN

3) & 7H|1

4) 2+ Ci¢lof
Options :
92090642541. 1
92090642542. 2

92090642543. 3
92090642544. 4

Question Number : 36 Question Id : 92090610771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



)0l SO0Z 7HE ERHE A8 1EHA L.
2 HO = HI7F B0l ( ) Ma2 EN7H A ZHRAC

1) 24y
) 2O2%

4 KOREAN

3) & 7H|1

4) 2+ Ci¢lof
Options :
92090642541. 1
92090642542. 2

92090642543. 3
92090642544. 4

Question Number : 36 Question Id : 92090610771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



)0 S0E 7HE YoU2 8 N2HM 2,
QH= H|ZF ZO| ( ) K22 SMNZF HA 4Rt

1) 24y
7)) RO2t%

4 KOREAN

3) e 7HX| 2

4) 2+ Ci¢lof
Options :
92090642541. 1
92090642542. 2

92090642543. 3
92090642544. 4

Question Number : 37 Question Id : 92090610772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
88 2D ( ) O S0{Z 822 T YUL 8 N2HAL.
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x
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)
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Options :
92090642545. 1



92090642546. 2
92090642547. 3
92090642548. 4

Question Number : 37 Question Id : 92090610772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChE& 211 ( ) o SO0|Z U8ez 718 2R A8 1EHML.

At (Well dying)0lEt £H|E F&, O&Chke F58 2l0[otch O 2
=21 2 0Felste 2de A apg's Bt 22 ¥ 4oy :2 I 2foj7t
ME D._HZI-. 2= Ho0pfle 3¢ H2 a8 /M8 2Tt O FEA RE +
UEF Thh= oM o2 SHO| ( ) Off ACtD = =+ AT

b Py -

)

) A
) @S] &8 B M A
4) 1S

Options :

92090642545. 1
92090642546. 2
92090642547. 3
92090642548. 4

Question Number : 37 Question Id : 92090610772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 2D ( )0 S0Z 802 I UYL g N2HUAL.

WCHY (Well dying)0|2t FH|E 3, ofBCHR %%-3 9|u|ﬁ_+tr. gl:r 2
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Options :

92090642545. 1
92090642546. 2
92090642547. 3
92090642548. 4

Question Number : 38 Question Id : 92090610773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 5 718 2 aZs 2§ D2HA 2.
List I List 1l
A 4t I. Hydrogen
B, T+ Il. Carbon
C. B4 Ill. Nitrogen
D B IV. Oxygen

1. A-IV, B-l, C-lI, D=1l
2. A-IV, B-|, C-lil, D-Il
3. A-lll, B-ll, C-l, D-IV
4. A-llI, B-I, C-IV, D-l

Options :

92090642549. 1
92090642550. 2
92090642551. 3
92090642552. 4

Question Number : 38 Question Id : 92090610773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ohs S 718 2 g 8% Jig 12dA 2.

List 1 List Il
A, A2 I. Hydrogen
B, Il. Carbon
C. E& Ill. Nitrogen
D, Erd IV. Oxygen

1. A-IV, B-l, C-lI, D=l
2. A-IV, B-|, C-lll, D-Il
3. A-lll, B-ll, C-1, D-IV
4. A-lI, B-I, C-IV, D-

Options :

92090642549. 1
92090642550. 2
92090642551. 3
92090642552. 4

Question Number : 38 Question Id : 92090610773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ohs S 718 2 g 8% Jig 12dA 2.

List 1 List Il
A, A2 I. Hydrogen
B, Il. Carbon
C. E& Ill. Nitrogen
D, Erd IV. Oxygen

1. A-IV, B-l, C-lI, D=l
2. A-IV, B-|, C-lll, D-I
3. A-lll, B-ll, C-1, D-IV
4. A-lI, B-I, C-IV, D-

Options :

92090642549. 1
92090642550. 2
92090642551. 3
92090642552. 4

Question Number : 39 Question Id : 92090610774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct& stAjo]e] H2 o2 BEE &8 A24A 2.
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Options :
92090642553. 1
92090642554. 2



92090642555. 3
92090642556. 4

Question Number : 39 Question Id : 92090610774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct& stAjo]e] H2 o2 BEE &8 A24A 2.
21): 4

1

[e

£l

0z Mo
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)
)
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Options :

92090642553. 1
92090642554. 2
92090642555. 3
92090642556. 4

Question Number : 39 Question Id : 92090610774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct& otAjojo] U2 o3 HEE8 1242,

ENEE
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Options :

92090642553. 1
92090642554. 2
92090642555. 3

92090642556. 4

Question Number : 40 Question Id : 92090610775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ChS SHALOj2] 22 ot BEEHE I24HA L.

i

Options :

92090642557. 1
92090642558. 2
92090642559. 3
92090642560. 4

Question Number : 40 Question Id : 92090610775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chs SHALO{] 2 T2 HEHE 12442

k. A

A0

& o o
e rere re
m 4 o0z =

Options :

92090642557. 1
92090642558. 2
92090642559. 3
92090642560. 4

Question Number : 40 Question Id : 92090610775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T B
e e 2 e
L V=

Options :

92090642557. 1
92090642558. 2
92090642559. 3
92090642560. 4

Question Number : 41 Question Id : 92090610776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CtS otxjoje] RS2 o2 B#EE N24HA2.

=94

W =
o= o ro
£ N 3

2
4

4)

Options :

92090642561. 1
92090642562. 2
92090642563. 3
92090642564. 4

Question Number : 41 Question Id : 92090610776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chs SHAtoje] 22 ol EdE NEHA L

=4

W =
o= o ro
N N

o
4

4)

Options :

92090642561. 1
92090642562. 2
92090642563. 3
92090642564. 4

Question Number : 41 Question Id : 92090610776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ct& etxjoje] 22 o2 B8 S8 24 R,

=H

W =
o= od ro
N N

as
4

4)

Options :

92090642561. 1
92090642562. 2
92090642563. 3
92090642564. 4

Question Number : 42 Question Id : 92090610777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ne
Pl
ro
rot
Rl
2
i
EJ
I
it
=
ko

5

1) =ik
2) =[O
3) @
4) =HEE

Options :

92090642565. 1
92090642566. 2
92090642567. 3
92090642568. 4

Question Number : 42 Question Id : 92090610777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ch

oo

o= Hojol L2 SHAOE NEHAL.

IE

-1

1) =ik
2) =[O
3) @
4) =HEE

Options :

92090642565. 1
92090642566. 2
92090642567. 3
92090642568. 4

Question Number : 42 Question Id : 92090610777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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rot
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1) =ik

2] =[O

3) E#¥

4) ZFEE
Options :
92090642565. 1
92090642566. 2

92090642567. 3
92090642568. 4

Question Number : 43 Question Id : 92090610778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS AtAHE0{e] €22 o2 38 D2HA L.
e =8
1)
2)

3)
4)

Mo Op
o= oin op

0x 0Z 0= D=
e pe ne pe

Mo 13
=

Options :

92090642569. 1
92090642570. 2
92090642571. 3
92090642572. 4

Question Number : 43 Question Id : 92090610778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CHS AtAHE0{e] €22 o2 38 D2HA L.
B 0=H

1)
2)
3)
4)

Mo ok
0= o op
0> o= ox

nme pe pe pe

Mo 13
=
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Options :

92090642569. 1
92090642570. 2
92090642571. 3
92090642572. 4

Question Number : 43 Question Id : 92090610778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtS ALAbEOe] 2 St2 HEWE NEHA L.

e 0=H

1)
2)
3)
4)

Mo op
o op

o=
o= 0z 0=
ne ne ne

Mo J3
¥
it
ne

Options :

92090642569. 1
92090642570. 2
92090642571. 3
92090642572. 4

Question Number : 44 Question Id : 92090610779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ct& AMAHE0{e] 282 S0 E D2d A2,

STAME

Ho

1) REAE
2) REAEMN
3) ®AEIL
4) mEAl

Options :

92090642573. 1
92090642574. 2
92090642575. 3
92090642576. 4

Question Number : 44 Question Id : 92090610779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS APAROle] E2HE SHAOE DEHA 2.

SE=ME

Ho

1) RE&EZE
2) REAM
3 ®Amd
4) FEHL

Options :

92090642573. 1
92090642574. 2
92090642575. 3
92090642576. 4

Question Number : 44 Question Id : 92090610779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ct& AMAHE0{e] 282 S0 E D2d A2,

STAME

Ho

1) REAE
2) REAEMN
3) ®AEIL
4) mEAl

Options :

92090642573. 1
92090642574. 2
92090642575. 3
92090642576. 4

Question Number : 45 Question Id : 92090610780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChE AARdOoje] 252 X8 124A2.

—

FPEK

1) Chinese year celebration
2) Aspiration for freedom
3) Chinese zodiac calendar

4) Open year round

Options :

92090642577. 1
92090642578. 2
92090642579. 3
92090642580. 4

Question Number : 45 Question Id : 92090610780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ct& AMAHE0je] 282 28 A2HA 2.
FPEmK

1) Chinese year celebration
2) Aspiration for freedom
3) Chinese zodiac calendar

4) Open year round

Options :

92090642577. 1
92090642578. 2
92090642579. 3
92090642580. 4

Question Number : 45 Question Id : 92090610780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct& AMARE0{e] 282 & 124A 2.
FpBEK

1) Chinese year celebration
2) Aspiration for freedom
3) Chinese zodiac calendar

4) Open year round

Options :

92090642577. 1
92090642578. 2
92090642579. 3
92090642580. 4

Question Number : 46 Question Id : 92090610781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Airplane

2) Automobile

3) Night bus

4) Vacuum cleaner
Options :
92090642581. 1
92090642582. 2

92090642583. 3
92090642584. 4

Question Number : 46 Question Id : 92090610781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct& etAtoje] 2 X8 L2HA 2.

8
1) Airplane

L
it

2] Automobile
3) Night bus

4) Vacuum cleaner

Options :

92090642581. 1
92090642582. 2
92090642583. 3
92090642584. 4

Question Number : 46 Question Id : 92090610781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Airplane
2) Automobile
3) Night bus

4) Vacuum cleaner

Options :

92090642581. 1
92090642582. 2
92090642583. 3
92090642584. 4

Question Number : 47 Question Id : 92090610782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1) School Annual Meet
2) School Chorus Team
3) School Sports Meet

4) School Re-union

Options :

92090642585. 1
92090642586. 2
92090642587. 3
92090642588. 4

Question Number : 47 Question Id : 92090610782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) School Annual Meet
2) School Chorus Team
3) School Sports Meet

4) School Re-union

Options :

92090642585. 1
92090642586. 2
92090642587. 3
92090642588. 4

Question Number : 47 Question Id : 92090610782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSo UYL £8 NEHAL.

e

1) School Annual Meet
2) School Chorus Team
3) School Sports Meet

4} School Re-union

Options :

92090642585. 1
92090642586. 2
92090642587. 3
92090642588. 4

Question Number : 48 Question Id : 92090610783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

92090642589. 1
92090642590. 2
92090642591. 3
92090642592. 4

Question Number : 48 Question Id : 92090610783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChE& S 718 252 £EHE8 1EHA L.

OiF8 O H{X0| AME AFKECs

%

Options :

92090642589. 1
92090642590. 2
92090642591. 3
92090642592. 4

Question Number : 48 Question Id : 92090610783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

92090642589. 1
92090642590. 2
92090642591. 3
92090642592. 4

Question Number : 49 Question Id : 92090610784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S §

rgk

of Y2 £8 N2YAQ.

1) Manjok Island

2) Lewvel of Satisfaction
3) Ten thousand Jokdo
4) Appetite

Options :

92090642593. 1
92090642594. 2
92090642595. 3
92090642596. 4

Question Number : 49 Question Id : 92090610784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BEE

1) Manjok Island

2) Level of Satisfaction
3) Ten thousand Jokdo
4) Appetite

Options :

92090642593. 1
92090642594. 2
92090642595. 3
92090642596. 4

Question Number : 49 Question Id : 92090610784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

COs #oig 282 T8 A2HAL.

rgk

1) Manjok Island

2) Level of Satisfaction
3) Ten thousand Jokdo
4) Appetite

Options :

92090642593. 1
92090642594. 2
92090642595. 3
92090642596. 4

Question Number : 50 Question Id : 92090610785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Flea Market

2) Main Market
3) Black Market
4) Stock Market

Options :

92090642597. 1
92090642598. 2
92090642599. 3
92090642600. 4

Question Number : 50 Question Id : 92090610785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ctg Eo) Pore =g N2MAQ.
FA A

1) Flea Market

2) Main Market
3) Black Market
4) Stock Market

Options :

92090642597. 1
92090642598. 2
92090642599. 3
92090642600. 4

Question Number : 50 Question Id : 92090610785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Flea Market

2) Main Market
3) Black Market
4) Stock Market

Options :

92090642597. 1
92090642598. 2
92090642599. 3
92090642600. 4

Question Number : 51 Question Id : 92090610786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
]

n

ojo

EHO 9T S 24D

1L

=
=

-

1) Side effect
2) Adhesive
3) Rirhness

4) Impact

Options :

92090642601. 1
92090642602. 2
92090642603. 3
92090642604. 4

Question Number : 51 Question Id : 92090610786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Side effect
2) Adhesive
3) Richness

4) Impact

Options :

92090642601. 1
92090642602. 2
92090642603. 3
92090642604. 4

Question Number : 51 Question Id : 92090610786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChS Eoo 232 X8 12HA2.

Sxg

1) Side effect
2) Adhesive
3) Richness

4) Impact

Options :

92090642601. 1
92090642602. 2
92090642603. 3
92090642604. 4

Question Number : 52 Question Id : 92090610787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( 1Ol SO0|E YO ZiE NEHAL

d=& 7|83%= 28, =M e 0 22 ( )0l/2t31
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Ct.
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Options :

92090642605. 1
92090642606. 2
92090642607. 3
92090642608. 4

Question Number : 52 Question Id : 92090610787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( Ol SE0{Z2 U2 78 N24A2.

A= 7|dstes 28, e=x0ME 0l 22 ( )0l/2t3

M

Ct.

C

1

Lt P
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4)
Options :
92090642605. 1
92090642606. 2

92090642607. 3
92090642608. 4

Question Number : 52 Question Id : 92090610787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( 1Ol SO0|E YO ZiE NEHAL

d=& 7|83%= 28, =M e 0 22 ( )0l/2t31

I

Ct.

4L

1

L P

)
)
)
4)

Options :

92090642605. 1
92090642606. 2
92090642607. 3
92090642608. 4

Question Number : 53 Question Id : 92090610788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

18 282 ds A2HAL,

LEO|7} EE 21412| HZ0| H0rX|= ¥4,

Options :

92090642609.
92090642610.
92090642611.
92090642612.

AW N =

Question Number : 53 Question Id : 92090610788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



u
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¥a
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2
rlo
pr]

N2MAQ.

o

LEO[7F B2 2l12] H|E0| 0= ¥ Y.

Options :

92090642609.
92090642610.
92090642611.
92090642612.

AW N =

Question Number : 53 Question Id : 92090610788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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rlo
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LEO[ZF B2 2l 2] H|28 0| ZO0HA|= E 4.

Options :

92090642609.
92090642610.
92090642611.
92090642612.

AW N =

Question Number : 54 Question Id : 92090610789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) sl
2) ALl
3) SHLY
4) L0l
Options :

92090642613. 1
92090642614. 2
92090642615. 3
92090642616. 4

Question Number : 54 Question Id : 92090610789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ThE AT g D2HAR.

7t Bl0| EXF 20p7te =0

2) WA Ol
3) SHEO
4) Bl

Options :

92090642613. 1
92090642614. 2
92090642615. 3
92090642616. 4

Question Number : 54 Question Id : 92090610789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) sl
2) ALl
3) SHLY
4) L0l
Options :

92090642613. 1
92090642614. 2
92090642615. 3
92090642616. 4

Question Number : 55 Question Id : 92090610790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1) SAHE
2) MRBE
3) 8&

4) MYE
Options :

92090642617. 1
92090642618. 2
92090642619. 3
92090642620. 4

Question Number : 55 Question Id : 92090610790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



20l OtO]=0| MBEHE St

1) YAAME
2) MREE
3 8&
4) MHYiE
Options :

92090642617. 1
92090642618. 2
92090642619. 3
92090642620. 4

Question Number : 55 Question Id : 92090610790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

220l OtO]S0| MEIE S5IH O{ES0| ME22 ¢ sfE& FE5l= Z0AM F= &

1) 2AME
2) IF8E
3) 8&
4) Y=
Options :

92090642617. 1
92090642618. 2
92090642619. 3
92090642620. 4

Question Number : 56 Question Id : 92090610791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) XS
2) YAIX]S
3) AEXS

4) d=4d

Options :

92090642621. 1
92090642622. 2
92090642623. 3
92090642624. 4

Question Number : 56 Question Id : 92090610791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[=]3

7HE g2 A8 ey

g2

sl 2sfAl™ THIof Cist absst £ 20
AME& THISHE 7[240] X|S3t e 20| & HIR X2 2 BHd 2

o
El
=
1o
=2
o
| >
m
I
| >
hu

1) Uigxs
2) YAXS
3) AMEXS

2) Yz

Options :

92090642621. 1
92090642622. 2
92090642623. 3
92090642624. 4

Question Number : 56 Question Id : 92090610791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Alg& TH|SHE 7|ZH0] X513} 20 2|08 HIR Yoz gt 2
1) CigA|=

2) YAXS

3) MEXS

4) "@xH

Options :

92090642621. 1
92090642622. 2
92090642623. 3
92090642624. 4

Question Number : 57 Question Id : 92090610792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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g2 S88 sdie X222 Y= £
1) ¥Ea

2) 9=

3) E°la

4) Zes

Options :

92090642625. 1
92090642626. 2
92090642627. 3
92090642628. 4

Question Number : 57 Question Id : 92090610792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642625. 1
92090642626. 2
92090642627. 3
92090642628. 4

Question Number : 57 Question Id : 92090610792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

by 22 g nEdAe.

dol F88 aHoE £22 Uk E
1) ¥E=

2) Fo=

3) X978

4) &=

Options :

92090642625. 1
92090642626. 2
92090642627. 3
92090642628. 4

Question Number : 58 Question Id : 92090610793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7Hd 292 A8 =YL

SHRO|A 7HE Qs Ao 2 2| 27|91 1145 HO| LS Al0] BAHY,
D72, WH, M2to] AT} 7|2 E[0] UL

1) ABAP
2) E=x=H
3) a=FA
4) =7
Options :
92090642629. 1
92090642630. 2

92090642631. 3
92090642632. 4

Question Number : 58 Question Id : 92090610793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

713 g2 28 T2,

SHRO|A 7HE Qs Ao 2 12| 2|0l 1145 HO| LS A0 WA,
D73, WH|, A2to] AT} 7250 U

1) &f7A|
2) PEH
3) d=E A
4) 8=H

Options :

92090642629. 1
92090642630. 2
92090642631. 3
92090642632. 4

Question Number : 58 Question Id : 92090610793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SHRO|A 7HE Qs Ao 2 2| 27|91 1145 HO| LS Al0] BAHY,
D72, WH, M2to] AT} 7|2 E[0] UL

1) &AL
2) gPFH
3) d=RA
4 27

Options :

92090642629. 1
92090642630. 2
92090642631. 3
92090642632. 4

Question Number : 59 Question Id : 92090610794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
bR 2YL S D2HAL.
aefAlCHet =HAICH 222 K F AUXHE E7] 2o LAle AlE M=

1) YSAIE
2) AAMZ
3) Nlefd =
4) 7|2 A

Options :

92090642633. 1
92090642634. 2
92090642635. 3
92090642636. 4

Question Number : 59 Question Id : 92090610794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) YStAIH
2) AHE
3) Nefd =
4) 7|20 A

Options :

92090642633. 1
92090642634. 2
92090642635. 3
92090642636. 4

Question Number : 59 Question Id : 92090610794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) YSAIE
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Options :

92090642633. 1
92090642634. 2
92090642635. 3
92090642636. 4

Question Number : 60 Question Id : 92090610795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642637. 1
92090642638. 2
92090642639. 3
92090642640. 4

Question Number : 60 Question Id : 92090610795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642637. 1
92090642638. 2
92090642639. 3
92090642640. 4

Question Number : 60 Question Id : 92090610795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642637. 1
92090642638. 2
92090642639. 3
92090642640. 4

Question Number : 61 Question Id : 92090610796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642641. 1
92090642642. 2
92090642643. 3
92090642644. 4
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Question Number : 61 Question Id : 92090610796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) Hze
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3 gd=
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Options :

92090642641. 1
92090642642. 2
92090642643. 3
92090642644. 4

Question Number : 61 Question Id : 92090610796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642641. 1
92090642642. 2
92090642643. 3
92090642644. 4
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Question Number : 62 Question Id : 92090610797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642645. 1
92090642646. 2
92090642647. 3
92090642648. 4

Question Number : 62 Question Id : 92090610797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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4) Ej

Options :

92090642645. 1
92090642646. 2
92090642647. 3
92090642648. 4

Question Number : 62 Question Id : 92090610797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642645. 1
92090642646. 2
92090642647. 3
92090642648. 4

Question Number : 63 Question Id : 92090610798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642649. 1
92090642650. 2
92090642651. 3
92090642652. 4

Question Number : 63 Question Id : 92090610798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HESC Y7| fI5t0] AX|E THHHO| Bo| &
1) g
2) WA
3) 8%
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Options :

92090642649. 1
92090642650. 2
92090642651. 3
92090642652. 4

Question Number : 63 Question Id : 92090610798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642649. 1
92090642650. 2
92090642651. 3
92090642652. 4

Question Number : 64 Question Id : 92090610799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642653. 1
92090642654. 2
92090642655. 3
92090642656. 4

Question Number : 64 Question Id : 92090610799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642653. 1
92090642654. 2
92090642655. 3
92090642656. 4

Question Number : 64 Question Id : 92090610799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642653. 1
92090642654. 2
92090642655. 3
92090642656. 4

Question Number : 65 Question Id : 92090610800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks :
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Options :

92090642657. 1
92090642658. 2
92090642659. 3
92090642660. 4

Question Number : 65 Question Id : 92090610800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642657. 1
92090642658. 2
92090642659. 3
92090642660. 4

Question Number : 65 Question Id : 92090610800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks :
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Options :

92090642657. 1
92090642658. 2
92090642659. 3
92090642660. 4

Question Number : 66 Question Id : 92090610801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642661. 1
92090642662. 2
92090642663. 3
92090642664. 4

Question Number : 66 Question Id : 92090610801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{Z 7+ 22 A8 N2HA 2.

( Y2/ HEL ptaadE HEAND P ZHAMCS AejHdE &

Options :

92090642661. 1
92090642662. 2
92090642663. 3
92090642664. 4

Question Number : 66 Question Id : 92090610801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( )2/ HZEL et 4R HEAN P ZHAMLL MelEds B

Options :

92090642661. 1
92090642662. 2
92090642663. 3
92090642664. 4

Question Number : 67 Question Id : 92090610802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642665. 1
92090642666. 2
92090642667. 3
92090642668. 4

Question Number : 67 Question Id : 92090610802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642665. 1
92090642666. 2
92090642667. 3
92090642668. 4

Question Number : 67 Question Id : 92090610802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642665. 1
92090642666. 2
92090642667. 3
92090642668. 4

Question Number : 68 Question Id : 92090610803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642669. 1
92090642670. 2
92090642671. 3
92090642672. 4

Question Number : 68 Question Id : 92090610803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642669. 1
92090642670. 2
92090642671. 3
92090642672. 4

Question Number : 68 Question Id : 92090610803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) O] 0|2 7FE 232 HE n=HA R,

ool &Ik )olc
1) Ao

~
okt
Hy b
o

Ao
D\J
0g
o

=)
0z

4)

Options :

92090642669. 1
92090642670. 2
92090642671. 3
92090642672. 4

Question Number : 69 Question Id : 92090610804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642673. 1
92090642674. 2
92090642675. 3
92090642676. 4

Question Number : 69 Question Id : 92090610804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642673. 1
92090642674. 2
92090642675. 3
92090642676. 4

Question Number : 69 Question Id : 92090610804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090642673. 1
92090642674. 2
92090642675. 3
92090642676. 4

Question Number : 70 Question Id : 92090610805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{Z 71 SR2 HE N2HA L.

HS012| =7 &8 JI2H0M 29 285 By 7|HH E4E 7t B B0 FE
HESZ U ( 1B/ & = UL
1) 2}
2) %
3) o
4)
Options :

92090642677. 1
92090642678. 2
92090642679. 3
92090642680. 4

Question Number : 70 Question Id : 92090610805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )Ofl 012 7P S22 HE N2HA 2.
As09 =7| 48 71240 29 £ 8% i 7|HY EHE 7HE B ROFE
HEoz ‘2Rt ( 1B/ & 5 UL
1) 2}
2) %
3) HY
4)
Options :

92090642677. 1
92090642678. 2
92090642679. 3
92090642680. 4

Question Number : 70 Question Id : 92090610805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{Z 71 SR2 HE N2HA L.

HS012| =7 &8 JI2H0M 29 285 By 7|HH E4E 7t B B0 FE
HESZ U ( 18/ & = ULL
1) 2}
2) 9
3) HY
4)
Options :

92090642677. 1
92090642678. 2
92090642679. 3
92090642680. 4

Question Number : 71 Question Id : 92090610806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) 0ff S0{Z JHE Yoe HE NEHAR,
HEIHE 31 #5 & F & ASleE ALE (1921), ) (1921), 'E}2ER} (1922)
SE S0l X200 ZHEN AN EHQ HIZME SOFHM 2 40| QME
oot}
1) d*&
2) HiY
3) AHCH
4 0
Options :

92090642681. 1
92090642682. 2
92090642683. 3
92090642684. 4

Question Number : 71 Question Id : 92090610806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2
ujn
2
e
=
024
ne
L=
rlo
R
o
El

n
r*
>
o

HEIHE 31 #5 & F & ASleE ALE (1921), ) (1921), 'E}2ER} (1922)
SE S0l X200 ZHEN AN EHQ HIZME SOFHM 2 40| QME
oot}
1) d*&
2) HiY
3) AHCH
4 0
Options :

92090642681. 1
92090642682. 2
92090642683. 3
92090642684. 4

Question Number : 71 Question Id : 92090610806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) O] E0{E 71 L2 HE N24A e
HETH2 31 28 HF '= #HSeE A& (1921), ( ) (1921), 'E}2ER} (1922)
S& Soff X209 ZHEN AME HZAE BOFHM B2 A2 Q4
oot}
1) #d%
2) By
3) i
4) 0
Options :

92090642681. 1
92090642682. 2
92090642683. 3
92090642684. 4

Question Number : 72 Question Id : 92090610807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



) Ol E0{Z 71 SR2 HE 12HAL.

—

o
it
==
1o
it
b |
]
rr

)OIt

1)
2)
3)
4)

I

02 o

e on o=
u

o o
M
e A

Options :

92090642685. 1
92090642686. 2
92090642687. 3
92090642688. 4

Question Number : 72 Question Id : 92090610807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 71 S22 HE 124A.

o
e
=——
1o
it
b |
]
rr

)OI Ct .

1)
2)
3)
4)

=2 o o8
e o ox
A ok

ofct
Hr
rio

Options :

92090642685. 1
92090642686. 2
92090642687. 3
92090642688. 4

Question Number : 72 Question Id : 92090610807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



) Ol E0{Z 71 SR2 HE 12HAL.

—

0z
o
1o
A
N
rr

)OIt

1)
2)
3)
4)

I

o+ o8

e on o=
u

o o
M
e A

Options :

92090642685. 1
92090642686. 2
92090642687. 3
92090642688. 4

Question Number : 73 Question Id : 92090610808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cte & 7H8 34 gE8% A8 R=HA2.

List 1 List 11
A O}2 & 9} | OlBSHCt
B. O}2 0] E3}jc} . 9 Alsict
C. of=2o| #a|ct . #Asict
D. O}=20j =C} Iv, 24" sHC}

1. A-IV, B-I, C-lI, D1l
2. A-IV, B-l, C-1Il, D-II
3. Al B-I, C-IV, D-II
4. A-lll, B-1l, -1V, D-

Options :

92090642689. 1
92090642690. 2
92090642691. 3



92090642692. 4

Question Number : 73 Question Id : 92090610808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cte & 7H8 @4 A28 48 242,

List 1 List 11
A OI3 & 9} |. Ol&f3tCt
B. O}=2 0| E3}ct 1. Halsict
c. o220 dalch . Z-Asict
D. 0j2 0 SC} Iv. ZgsHct

1. A-IV, B-l, C-Il, D-1Ii
2. A-IV, B, C-Il, D-II
3. A-lll, B-l, C-IV, D-II
4. A-lll, B-1l, C-1V, D-I

Options :

92090642689. 1
92090642690. 2
92090642691. 3
92090642692. 4

Question Number : 73 Question Id : 92090610808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ol & 7P oA Ads A& D240,
List 1 List 11
A. Or5& 9} . O| &L}
B. O}20| So}ct . H&loict

C. Oh30 d2|ct

D. Ot&0f &L}

. ZAsicH

Iv. ZE3HC}

1. A-IV, B-I, C-lI, D1l
2. A-IV, B-l, C-1Il, D-II
3. A-lll; B-I, C-IV, D-II
4. A-lll, B-1l, C-IV, D-

Options :

92090642689. 1
92090642690. 2
92090642691. 3
92090642692. 4

Question Number : 74 Question Id : 92090610809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1




n
oo
o
]
02
pl=|
]
re
W
rat
W
o
=

|ru

o>
>
18]

List | List I
AE7H I 214 wei7F ZlH d=>o|L 2],
B.SAE Il $Y 8™ 7|Ho| 8L}
AL
C.3s . EALE AL 84 Atz e E 22| |5t o
FH Y Cistd EME WY 28
D. 28

Iv. O| DpEO|Lt ZOOAM TS M22 Al7|E B0 F
oS F2HO| LEEE A

—_

1. A-IV, B-1I, C-1, D-Ill
2. A-IV, B-l, C-IIl, D-II
3. A-l, B-llI, C-IV, DA

4. A-ll, B-1ll, C-1V, D-

Options :

92090642693. 1
92090642694. 2
92090642695. 3
92090642696. 4

Question Number : 74 Question Id : 92090610809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



n
oo
o
]
02
pl=|
]
re
W
rat
W
o
=

|ru

o>
>
18]

List | List I
AE7H I 214 wei7F ZlH d=>o|L 2],
B.SAE Il $Y 8™ 7|Ho| 8L}
AL
C.3s . EALE AL 84 Atz e E 22| |5t o
FH Y Cistd EME WY 28
D. 28

Iv. O| DpEO|Lt ZOOAM TS M22 Al7|E B0 F
oS F2HO| LEEE A

—_

1. A-IV, B-1I, C-1, D-Ill
2. A-IV, B-l, C-IIl, D-II
3. A-l, B-llI, C-IV, DA

4. A-ll, B-1ll, C-1V, D-

Options :

92090642693. 1
92090642694. 2
92090642695. 3
92090642696. 4

Question Number : 74 Question Id : 92090610809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List | List 1l
AE7|H I 21 A w7 XY HEOo|L} 2|5,
B.SAE Il $Y 8™ 7|Ho| 8L}
C A e " "
L5 . ZEALS SHHLE 84 X2 Y E A7) 9oty o™
ZH ol CHsly 2HE WY 8.
D.E2EF

Iv. O| DpEO|Lt ZOOAM TS M22 Al7|E B0 F
oS F2HO| LEEE A

—_

1. A-IV, B-1I, C-1, D-Ill
2. A-IV, B-l, C-IIl, D-II
3. A-l, B-llI, C-IV, DA

4. A-ll, B-1ll, C-1V, D-

Options :

92090642693. 1
92090642694. 2
92090642695. 3
92090642696. 4

Question Number : 75 Question Id : 92090610810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che B232| 7HE 22 T8 124A 2.

Aotg BAISCH

1. To sign an agreement
2, To renew an agreement
3. To review an agreement

4. To terminate an agreement



Options :

92090642697. 1
92090642698. 2
92090642699. 3
92090642700. 4

Question Number : 75 Question Id : 92090610810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che 299 7IF 22 T8 NEHA2.

Hetg ALt

1. To sign an agreement

2, To renew an agreement

3. To review an agreement

4. To terminate an agreement
Options :

92090642697. 1
92090642698. 2
92090642699. 3
92090642700. 4

Question Number : 75 Question Id : 92090610810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ches 299 7tF 22 T8 NEHA2.

Hefg ALt

1. To sign an agreement

2, To renew an agreement

3. To review an agreement

4. To terminate an agreement
Options :

92090642697. 1
92090642698. 2



92090642699. 3
92090642700. 4

Question Number : 76 Question Id : 92090610811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Che& S0 7HE 292 BoE n2dA2.
ot=o SEe HE A SET 28 714857 25t HEs =4Y

—

ret

1. HeE
2. HEE
3. HelHE
4. 2453
Options :

92090642701. 1
92090642702. 2
92090642703. 3
92090642704. 4

Question Number : 76 Question Id : 92090610811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cheg Sl 7HE 292 B3E 124A 2

om0 EE HE 8 S2T 28 7|47 f5td HET 5 4Y

1. H#E
2, HEE
3, HeE
4. Z=H
Options :

92090642701. 1
92090642702. 2
92090642703. 3
92090642704. 4

Question Number : 76 Question Id : 92090610811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o
oo
Mo
Mo

0ok e

2

2 HEE 1242

oh=o slgE HE RS2 28 7[dst| f5te Mg 349
1. HeE
2. HEE
3. HeE
4. 454
Options :

92090642701. 1
92090642702. 2
92090642703. 3
92090642704. 4

Question Number : 77 Question Id : 92090610812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )Off E0{E LA HHE N2HA L.
et Sl ( JEOf 2 uBAHE 8IS

1. 1972
2 1973
3. 1974
4. 1975
Options :

92090642705. 1
92090642706. 2
92090642707. 3
92090642708. 4

Question Number : 77 Question Id : 92090610812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A
fujn
2
]
ne
Ad
ro
0
o
o
Il
>
o]
ko

S23 AEE ( )HO| QRBAE SRSACH
1. 1972
2 1973
3. 1974
4. 1975
Options :

92090642705. 1
92090642706. 2
92090642707. 3
92090642708. 4

Question Number : 77 Question Id : 92090610812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0 2 o2 HE 12HA L.
L g == )H0 2R EAHE FEISHRACL

1. 1972
2. 1973
3. 1974
4. 1975
Options :

92090642705. 1
92090642706. 2
92090642707. 3
92090642708. 4

Question Number : 78 Question Id : 92090610813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{Z 22 HE 12 HAL

SHA 51 2 AR 2] X H & )2| 230 2™ ACt.

I Lad (] —_
r=
=
ge
um
Wy T-E
2
oh
gl
]

Options :

92090642709. 1
92090642710. 2
92090642711. 3
92090642712. 4

Question Number : 78 Question Id : 92090610813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E0{Z 22 HE 12 HAL

SHA 51 2 BAT2] XH A= ( )2| 230 2™ ACt.

P Lad M =5
>
>
0o
o
I-J
r
o
ole

Options :

92090642709. 1
92090642710. 2
92090642711. 3
92090642712. 4

Question Number : 78 Question Id : 92090610813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHA 51 2 BAT2] XH A= ( )2| 230 2™ ACt.

I Lad (%] —
r=
=
ne
of
-?-t

El R
i
]
Fl
]

Options :

92090642709. 1
92090642710. 2
92090642711. 3
92090642712. 4

Question Number : 79 Question Id : 92090610814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Off S0{Z LSS HE n2fA2

CHStRI=ol M 20 CH CHE 22 2022 A0 AT 20| ( )OIC}.

HI

1. 205
2. d¥d
3. =48
4. 2Ho
Options :

92090642713. 1
92090642714. 2
92090642715. 3
92090642716. 4

Question Number : 79 Question Id : 92090610814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-

( ) 0ff SO Yote BE n24Ae.

CHStRI=ol M 20 CH CHE 22 2022 A0 AT 20| ( )OIC}.

Ho
2
Hlul

& e
o

- Ly Mo —_—
Mo ®o oo
re ng

=

Options :

92090642713. 1
92090642714. 2
92090642715. 3
92090642716. 4

Question Number : 79 Question Id : 92090610814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) 0 S0{Z 2 HE 1244,

CHstQl=o] M 20 CH CHEZ 2= 2022 HO| FHAUSH £0] ( )0|C}.

Ho
2
Jm

rat
o

S Ly P —

Mo Ho o™
1=

e g

=

Options :

92090642713. 1
92090642714. 2
92090642715. 3
92090642716. 4

Question Number : 80 Question Id : 92090610815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( 0 S0{E HH2 0FE AL

3t =& 0] ( ). 20| ( ).

[HO

47|t
g 7|ct
off 7|
FAICH

B T L

Options :

92090642717. 1
92090642718. 2
92090642719. 3
92090642720. 4

Question Number : 80 Question Id : 92090610815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( 0l S0{E EHE 03 E MY,
23 +F0| ( ). EEO ( ).
1. 471
2 g7\t
3, off 7|
4. 5 X|Ch
Options :

92090642717. 1
92090642718. 2
92090642719. 3
92090642720. 4

Question Number : 80 Question Id : 92090610815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( 0 S0{E HH2 0FE AL

3t =& 0] ( ). 20| ( ).

[HO

47|t
g 7|ct
off 7|
FAICH

B T L

Options :

92090642717. 1
92090642718. 2
92090642719. 3
92090642720. 4

Question Number : 81 Question Id : 92090610816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChS& &1 ( ) O S0{Z L2 EHE NEHAL.

20| =25t A= HEWE oM Al 20|} LIERLID, ( Ol A
[+ )

1. oHofA M EHoA
2. e
3. g
4.  HA
Options :

92090642721. 1
92090642722. 2
92090642723. 3
92090642724. 4

Question Number : 81 Question Id : 92090610816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d2E0| kafst Qe HEE oM A 207t LIEFLIH, (- o A
ApHof ot elAjo] ZehLch
1. SO A M A0 A
2. MR
3. H2
4.  HA
Options :

92090642721. 1
92090642722. 2
92090642723. 3
92090642724. 4

Question Number : 81 Question Id : 92090610816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChS&8 &1 ( ) Ol S0{Z2 S22 BHE 12 A2,

20| =25t s HEMEZ M AFE e oOft LIEILID, ( Ol A
[=] )

1. SO A A 2 E oA

2.  MRE

3. 5

4. A
Options :

92090642721. 1
92090642722. 2
92090642723. 3
92090642724. 4

Question Number : 82 Question Id : 92090610817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cre& 21 ( ) Ol =O{ 2 D EHE D24 A2,

20| SEES7IRAHE ( 12/ 81 ALRE HIE2Z &0
Ot 42 480 dd S5 X8 BOFRICE 109 AloM 7HE S5t
AlO{& "= O|Ch
1. 448
2. 444
3. B8#
4. g&4d
Options :

92090642725. 1
92090642726. 2
92090642727. 3
92090642728. 4

Question Number : 82 Question Id : 92090610817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHE & 21 ( )Of EO{Zt U EE D=4
20| SEES7IRAHE ( 12/ 81 ALRE HIE2Z &0
Ot 42 480 dd S5 X8 BOFRICE 109 AloM 7HE S5t
AlO{& "= O|Ch
1. A4 g
2. 444
3. B8#
4. g&4d
Options :

92090642725. 1
92090642726. 2
92090642727. 3
92090642728. 4

Question Number : 82 Question Id : 92090610817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cre& 21 ( ) Ol =O{ 2 D EHE D24 A2,

20| SEES7IRAHE ( 12/ 81 ALRE HIE2Z &0
Ot 42 480 dd S5 X8 BOFRICE 109 AloM 7HE S5t
AlO{& "= O|Ch
1. 448
2. 444
3. B8#
4. g&4d
Options :

92090642725. 1
92090642726. 2
92090642727. 3
92090642728. 4

Question Number : 83 Question Id : 92090610818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHeg Sl diE AlE RE2HAM 2.

"L 2717t ALY/ Woll=/2 80| 10| BUf E2|22|C

1. HEAE

2. "ol dSs

3. 1%

4 L
Options :

92090642729. 1
92090642730. 2
92090642731. 3
92090642732. 4

Question Number : 83 Question Id : 92090610818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che @ 9n e AlE D24AL.
U 27)7 AL/ 1ol /2 g0l 0| BU S2l22|c

GBS
g2 d5
ik,

=k 1i=

s B g

Options :

92090642729. 1
92090642730. 2
92090642731. 3
92090642732. 4

Question Number : 83 Question Id : 92090610818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHe& oM siE AlE n2HAlL.

"Lt 22|17t 9ARY/71E Wol=/2Bl0] 10| B =2|22|CF

el
o
P
A

1o
ks
Ho

b LA [l —&
ko kB oC
oy oot

|.|-|

Options :

92090642729. 1
92090642730. 2
92090642731. 3
92090642732. 4
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